Charge normalized event counts 145 < clusT < 155

Slope after random events subtraction

LD2 E..>12

All KinC x50 4 runs -0.0074

Run 3104 & 3105 0.0029



Charge normalized event counts
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Some events have more none-zero values than NPS.cal.nclust branch shows
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But those unexpected none-zero values are absolutely the same values as the previous event

I set all the values in the array to be 0 at the end of each event, so those numbers are indeed from the root file...
And it happens randomly (I suppose). 2



Charge normalized event counts

The difference between real cluster number and the hcana number for run 2342
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Charge normalized event counts LD2, 145 < clusT < 155

Using NPS.cal.nclust Only ps6 production good runs
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Charge normalized event counts

Using all the none-zero values

counts / Mean value
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Charge normalized event counts

Using all the none-zero values

counts / Mean value
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Charge normalized event counts
# of good clusters (good time and E>1.2) for each event when clusE,,,,,, > 1.2
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Charge normalized event counts

counts/mC™!

Charge normalized DVCS events(LD2)
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